L.2.1.B- 1B Irregular Plural Nouns

Multiple Choice

Identify the choice that best completes the statement or answers the question.

1. What is the plural form of foot?

a. feet
b. footes

2. What is the plural form of goose?

a. gooses
b. geese

3. What is the plural form of hoof?

a. hoofes
b. hoof's

4. What is the plural form of elf?
a. elfs

b. elfs

5. What is the plural form of deer?
a. deers
b. bucks

6. What is the plural form of fish?
a. fishs

b. fishes

7. What is the plural form of mouse?
a. mouses
b. mice

8. What is the plural form of tooth?

a. teeth
b. tooths

9. What is the plural form of child?

a.  childs
b.  childes
10. What is the plural form of baby?
a. babys
b. babies
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